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— ~ Convert the following decimal numbers to their hexadecimal equivalents.

1. (7095 (5%)
2. (18890 (5%)
3. (4095)0 (5%)
4. (4096)50 (5%)

= ~ Suppose you wish to design a circuit that indicates when at least three out of four inputs are
HIGH. The circuit has four inputs, D3,D,,D1,Dg and an active-HIGH output, Y. Write the
Boolean expression for the circuit and draw the logic circuit. (20%)

= ~ Write the Boolean expression describing an 8 to 1 multiplexer. Evaluate the equation for the
case where input Ds is selected. _ (20%)

79 ~ Draw a timing diagram for a NOR latch showing each of the following sequences of events:

1. S and R are both HIGH, S goes LOW before R. (5%)
2. S and R are both HIGH, R goes LOW before S. (5%)
3. S and R are both HIGH, S and R go LOW simultaneously. (5%)
4. State why S=R=1 is a forbidden state for the NOR latch. (5%)

#. ~ Design a synchronous mod-10 counter, using positive edge-triggered D flip-flops. Check that
unused states properly enter the main sequencé. Draw a state diagram showing the unused

states. : (20%)



